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£ 1BEX |4 [ 2,076 2,239 4,315 536 464 1,000] 25.82 20.72 23.17 1,540 1,775 3,315
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£ 2BEX |4 [ 3,659 3,837 7,496 970 830 1,800f 26.51 21.63 24.01 2,689 3,007 5,696
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% IBEX |4 [ 2,995 2,958 5,953 918 782 1,700] 30.65 26.44 28.56 2,077 2,176 4,253
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£ A4BEX |4 [ 3,199 3,488 6,687 867 833 1,700} 27.10 23.88 25.42 2,332 2,655 4,987
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£ SH5KREX |4 [ 2,851 3,100 5,951 813 187 1,600] 28.52 25.39 26.89 2,038 2,313 4,351
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£ 6KREX |4 [ 2,813 3,073 5,886 767 733 1,500] 27.27 23.85 25.48 2,046 2,340 4,386
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£ TEREX |4 [ 1,902 2,303 4,205 533 567 1,100f 28.02 24.62 26.16 1,369 1,736 3,105
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% 3KEX |4 [ 2,456 2,532 4,988 634 566 1,200] 25.81 22.35 24.06 1,822 1,966 3,788
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£ IKEX |4 [ 2,631 3,080 5,711 760 740 1,500] 28.89 24.03 26.27 1,871 2,340 4,211
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£10EEX |4 [ 1,395 1,584 2,979 362 338 700f 25.95 21.34 23.50 1,033 1,246 2,279
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£11EEX |4 E 2,105 2,351 4,456 573 527 1,100] 27.22 22.42 24.69 1,532 1,824 3,356
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F12EEX |4 [ 2,229 2,482 4,711 669 631 1,300f 30.01 25.42 27.59 1,560 1,851 3,411
EME+/) %]

F£13BEX |4 [ 2,243 2,462 4,705 623 577 1,200] 27.78 23.44 25.50 1,620 1,885 3,505
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& 5t 4 [E| 32,554| 35,489 68,043 9,025 8,375| 17,400 27.72 23.60 25.57| 23,529 27,114| 50,643
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